030 000000 (robot dynamics)

gogbbbuoooob oodo

2017.2.3 0

~
O O
8 000000O0O0D000O0O00 18
81 00000 q=1g] -« oo 18
82 0000 — 0000000000 . ... ......... 19
83 000000000 . ..ot 20
84 000O0OD 100 ..., 21
9 000000000 23
91 0000 F=[F] .. 23
92 0000000 ..o v i 23
93 000000000 . ..., 24
94 000000000 . ..., 25
10 000000000000 26
101 0000000000 .« ..ot 26
102 0000000000 —0000000 . ... ..... 27
103 0000000000 . . ..ot 28
104 00000000000 - ..o e e 29
11 000000000000 29
111 00000000 .« ..ot 29
112 0000000000 . ..ot 29
113 00000000000 .. oot 30
114 00 —0000000000000000 ... ..... 30
A 000000 32
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8 Upuobbuobbooboogno

gbobogobooboobbooboobboobooon

d (0L\ 8L 8D
_— —_— —_ —_— : ) = 1 I 1
o ( 8%) 94, + 9%, Fi (i=1,---,n) (8.1)

g=[¢)|000000000000000000OOO00O00OUODOO0 100000000
00o000oOo00ooOoO0@l)boooo0o0o0ooooooooooonD F=[F|O
ooooo9popDOOOOOOO

01:00000000000000000
DOooooo0o0 £| £=7-4  (TOO0DO0O0O000,40000000) |

0OOd %m]ac|2 z,0,w,1,J
oooooooT (00 (@2O00) %Iéz Ioooooooo (00000
00 (B00) | jw-(Jw) “ 00 0 5" 00000
00 mgh
000000 u |0000 sk a?
000000 | LvRsgn(i)i
oooo P oooo jed?
0000 3D |2|d?
0000 F = [F] Zax’“fk 90 p2s
—~ 04

81 00000 q=[q]

0000000000000 00000000z=[x)00006¢000O0O0O0OOOO
uboobooooobooobo3boobobooboaog3boboobobo3uuoboonoon

q 1 [m] 6 [rad]
qg=|q@| = |z2 [m] oo x1 [m]
q3 0 [rad] xo  [m]

goboobooboobooooboobbooooboobooobooobobooboboboon
ugbooodobooobobodguobboonoboouonoboobuoonoboodg gu @
00000 (generalized coordinate) 0 000
gobooboboooobooooboboooooboooooooooobos3sbon
000000000000 10000200000000000Y0000000000
ugdobobobtboooouobbodoobbbuooooobobbooooubuoooo 3gug
googboooobobobobooboboooobooboooobobooboon
ugooooboboobbbotbddooooooooobobooodooooooooobooa
gooboboobbodooobobboooobooooobobooooonbobooon
gobooboooobooboobooboboobobooboobooooobooboobooboon
ugoooobobobobbbtbodoooooooooboooboooo

Y0O0oO00000000000000000
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O

X1
q,

X2
9,

X3
q;

() 000000 (00O0)

q, ; 49> : s !

O

X1 X2 X3

() DODDODO (DD0O0)

010000000

82 U000 —O0OOLOOOOOODLDOD

Oooooboo200me=f0O000000000O00O0O0OOOOOODOODOOO
O0000o0o0o0oooooo0 (phOooo oUODODOOODOUDODOOOOOOOOOODOD
¢, 00000000000COCCO00000ODOOCOOO0TOOOOODOO

oooODO0OO010000000000000O0T7TO000000O0OODOOOOOOOO
O0000000000O0O000 ((bh)OODOOOOOODOOODODOOOO

uboboobodb z00000000000000
00000000000000000000g=[¢;)0000000000000 o = [z4]
gboboboboobobooboo1boboboonDog

x1

q1
q2
| 43

o 001()00000

X1 q1
q1 +q2

41+ g2+ g3

o 00 1 (b)

T3

000D0() 000000000 0000000000 [¢)00000000000
000000000000

000000WOPOF 0000000000000000000000000000
00000000 2000000000000000000000000000000

0031 20000000000q=[¢;J000000020000000000000
gboboobooboobbooooobooon

A

X2

\j

X21

() 00000
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000000000 2 = (z11,212)'000000000 a3 = (w21, 722)7

Ux,z,000000O00O0D0OO0O
» OO D[OOO0O0OO0ODOO0ODO0ODOO0D

T11 lysinqy

2| hocosay 0 (00000
To1 l1sinqy + lo sin go

To9 l1cosq1 + l2 cos g2

gbooobOobooooobooog

11 l1sinqq
T12 l1 cosqp
= . . OMb)OoOoOoOD0oO
21 Iy singy + lasin(q; + ¢2) (b)
T22 ly cos g1 + 2 cos(qr + ¢2)

good

83 ULUUUobbOouf

\/

0000 ¢qO

(8.2)

0000000000000000000 (e, 4)0000000000OODOOOO

x+1lsinf

r+lcosf

Ty = [f] , @y = Trans(ap) Rot(—pf) [(l]] =

goog

] , T=rTa (8.4)

00 3.2 J00000O00000D000 (81)ps0000000OO0OODOOOO

» 00O 000@4) 0000000000000
. |T . |2+ 1Bcosp L
””[J’ Tm = {—M&nﬁ} rera
gdoooooooooono

M 2 I,
T = w]\/[ + B) T, + 501
M . I
:§s2+%(@+u%%5f lﬁwmf)+§&
M 1
=—i+ = (w + 2l# cos B + ZQBQ) + =62
2 2 2
Mr? . . 1
= ; o’ + % (T2d2 + 2lrafB cos 8 + l262> + 5022

w 2 +ml?“aﬁcosﬁ—|— 752
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gbooobooboooo
U=mglcosp+C (CODOO), (8.11)
obooobOoboooboobooooboobooon

M 247 . 2.
L:T—LI:%d2+mlrdﬁcosﬂ+m762—mglcosﬂ—(] (8.12)
D00000D000D000D000000 (8.1)p180000000000000000

gbogboobooooboon

2—4 = {(M +m)r? + I'}é& + mirS cos B
Je!
d 8£ o 2 . b _ 52 . % _
T 9a {(M +m)r*+ I}téa+ mlir(Bcosp — B°sin B), D0 =0,
Zg = mlréccos B+ ml*3 = ig; = mir(écos  — afsin B) + ml?j,
oL Lo .
% = —mlrafsin 8 + mglsin 8

000000000000 7TO0000 «0p00000000000000 F,,FgO00O0
000000000 (8.1)0o0o0oooooooooo

%% - % ={(M + m)r? + I}& + mlr(B cos 8 — % sin B)

= {(M + m)r? + I'}é + (mlrcos B) — mlr3?sin 8 = F, (8.13)
i% oL =mlr(&cosff — ap sin 8) + mi?3 — (fmlrdﬂ' sin 8 + mgl sin 3)
dt 9p  0p

= (mlrcos f)a + ml?3 — mglsin § = Fs (8.14)

00000000000000 ¢,4000000000000000

(M +m)r*>+1 mlrcosf] [&] _ mlr(3?sin 8 . Fa (8.15)
mlr cos 3 mi? Bl | mglsinp Fs ’
A p b F

00000000000D000 F,,FgOOOOO 90000000

84 LUUUOOD1I00

gbbooobbooobobooobbooob 20000000000 b000b000
gooobob2000000000000000000b00 100000 DbOobDO0ObDO
vbobobooooboboobooboooboooobooboo100booob
gboooboboobooboboaboo

mi%i = —mglsinz (*)

00000 (:000) 0000000 2000 00000000001 00000ODO
Ubbo0z=y00O000OO

T=y

mi?E = —mglsinz
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Uboboobdz=y0000000 2=y0000000

Ty (%)
y=—9sinx ooogo

ugbobobooobooo20b000b000b0b00o0obooaonboo

o0 100 (*) =" 10200 (%%

y=a&

00100000010000 ()00 (™) 00000000000000000000
00O0ooooooo 20
0000300000000 % = f(&,4,2) 00020000000000 4=y, &=z
ooooo

T=y

y==z (8.16)

z= f(zy,z)
00001000000000000000000000000

no1o0o "ESY 1poanono

obo0l1bob0obobobobobobobobobobobo

d"
Tl =, x2:jj’ x3:$7 S xn:W
goooooooood

00 33 00DbOo0obOoOo1g0o0oo

= hl(aa(ivB?B)

. : (8.17)
/8 = h2(a7d7/37ﬂ)

O000000z1=a, 29o=¢, x3=08, z4=(30000
» 000 O0D000DOO0O0O00 G =6 do=dq, d3=08, #4#=£400000
i;Z - h1($1,$2,$37x4)
T3 = T4 iz =0 =124

&y = ho(x1, 22,23, 24)

(8.18)

oo 100o00bo0oon

00 31 Code4000000(815)0000 F,=F=0000000000000
00000000000 00000000O0O000ODOoODOOO@)OOoODOooooOO

g=A"'(b+7) (z h= [Z:D (8.19)

Uboboobooboobon 33000010 000000O0DODOODO

P(*) 00 (*)DO0O0D000(™) 00 (00000000000 (Y0000 (000000000
0000000000
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9 Ougbboood

9.1 0000 F=[F]

0000000000 (N)DOoooooOO0o0ooOoooooooooOOoOobDooO F=
[F;] 000000 (generalized force) 0000

00000000000000000000000 F=[F][NOODOO T [Nm]O
gbobooboobobooboobooobobooobo

Fy [N]
FolFl=|B N (9.1a)
T [N-m]

uboboobooooo

9.2 0OUOOggooo

ggbooboobooboboooboooboobobooboboboobooboboobo
00000000000000000mX =F,1/=T00000000

le = F1
mX, = Fy (9.1b)
16=T

oooobob pO00b00b00b000 X, do0b0obobooo0bobUFR,TO
ooold Xy, eO0OOOOOoOoOoooOOoUooobOOoDObOOoooDoOooD /O0DODODO
uboboobod guoboooo

0034 00 31000000 ¢=(q,q)000000000 F = (F,%R)0000
()0 (b)000000000000000000 /0020000000000000
00000000O0((b) DO /0000000000

»000 FOOOO (a),(b)000000000 10000000 00000000

O00000O0(a)0 /, 002000000 00000000 OO00O00O0O(MD)O F
U010000020000000 ¢UODOOOOODO

0035 0034000000000/ 00000000000O0(()ODOOOOO (b)
gbooboobooboobbooboooboo

» 00O 0200000(k)UO0O0O0O0O0O /00000 UOO00O00OOO0OOOOO
00000000000 200000000000000C0O(MUOOO0OUD /0000
0¢UOO0000 (D00)000000000 10000 2000000000000000
000 F,-F 000000

020000000000000000000000D0()00O0O00OOOODODOOO
0000200000000 ((CU000D0)00000DDO0OO00O0UDOOOOOOOOUOO
00000000000 0000C0O0O0OOOO0DOoOOOOoDOoOoODoDDOOoOoOO (D)
O000000000000%00000000000000000000000000
0000000oo0o0o0o0ooO0O0()OOo0DoOoO0O0DUO0OO0DoDOoO0OOoDOooOOoOOooOO

0000000000000 00000000000000
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tT—45—
S EEEE

A0 L

2 = - ammE  FL | )
('l‘ﬂ'l‘i%)\% < ’{]'-1 ('l‘ﬂ'l‘ﬂf%) \% < ,{]’—1

7

() 00000 (byO0ODOOO

U22000000000000000

gbooobooboooobooboobobobol1ooboobooooboo 2000
00000000 (Dooooo)o(hoOoooooooooOOooooooobooooo
ubobooboobobuoobooobooboobboobooooo
gboobooooboboobobooboboobooboobobboboobooon
000 (0000F/RO0-F/)0000D0D0D0O0O0O0OO0O0O0O0O0OO0O0O0OO0O0O0ODOODOD
O0000000000%0000000000000000000000000000
0000000000000000000 90

9.3 UUoogbooboogo

ooooooo /0000000000 DOO0DOODOUODOODODODODOOO
gbobooboobooboboobobobobooboboobo

0031 0000000000 F=[F|000000xz=[»]0000000000
000 000000000000 q=[¢)000000O0OO

xl(Qlf"va)
x=z(q) = : (9.2)
wn(Qla"WQm)
D000D0000q=[¢]00000000 F=[F|00
"9 B e, | oz \ 7"
Tp T Tnl | . x
7;: F: 7...7 . = F .
d — Jq; g [3% 3%} ' (3%’) ©-3)

n

gbooooooooooooooog /000000000000

3] Ozn
F=|:|=]: "~ : :‘<aq> F (9.4)
I

000000000dx/og0 0000 xz(qOOOOOODODOO

Y0poDoDoDOoOoO0

) 0000000000000 00D0000D0O000NNDNDNOO0N0NDNOOON0NDOoO00ONoNonod
gboboooooooboooooobooooobooboooon
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obooboboobon 310 FO OUODUODOOOODODODOOODODOoDODO
obobooooboooooob saooooooooooooooooooon

00 3.2 100000000 «z=[000000000 F=[F)00020000
O0000g¢g=[¢)0 00000000 F=[/|00000000000O0O0O(9.2), (9.3)
oboogooog

oo 310320000000 boooobboooooboboooobbbouooooboo
ugbbooobogbooboooo

9.4 UUOUOOOLODOOOO

830 0000000 DOOOO0OODODO
00 3.6 (00000000000000) ODO0DO00O0TO000 «,000000000
Fr=(Fa,Fp)l 0O0O0D0DO

» OO0 OO0OO07TOO0OO0OO0OA=c—pO00000000COO00OOCOT=F 000000
gboooog 31032000

90 a6
Fo="Fp=1.T=T, Fs=—-Fy=-1-T=-T
oa "’ = op""

0000000 Fr=(T,-7)7000 90

000 F,0000000 (8.15) 00000 FOO
F=Fyp (9.5)

000000000000 7T0000000000000000000000000
00000000000000000000000 70000000 PDOOOO 7
0ooooooooo

T = Kia + Kyt + K3 + K4f3 (9.6)

oooodobodbzs=ra=0000000000000000=000000000
gboogoooon

00 3.2(0000000000000O0O) (K1,Kq, K3, Ky4) =(1,0.5,40,4) 0000000
0o0o0oooooooooodoooooooooooboooood
» 000 Code4O 7000
FT = [0; 0];
0o
T = 1*%a + 0.5%da + 40%b + 4xdb; FT = [T; -T];
0000000000000

0o 70000 TO
0000 [1]1230000000
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10 OUobouoboboood

gbooooboabooonbogd

00 33 Code 50000 mOO0OD0/O0D000OO00OOOOODOOOOOOOOOOO
U000000O00OCode 5000000

10.1 0000000000

Code 50000000000DODOO0ODOOOOOODOO

f,fo000D000D0O00O0OD0OOO00ODOOOOOO0OOO0O0ODOOO0O0OgOODODOO
OO0000«0000000000D0¢00O0OODOODOD

| [cos@
__° — 10.1
“ 2 [sin 9] w2 b ( )

0000 (oooooo)oooo f,f00000000000O0o0LOoOOo0Uooo

0000000000000000000000007=mI?/30000
gbobooboooobobobooooboboobobobooboboobooobao

gbooboobbooboobbooboobobuooboonoobo

F=f+f,+mg (10.2)

000000 (“A’0000000 )

T = ul /\fl +u2/\f2 (103)

®0000 (130000000
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O000000000000000090000000

mié=F=f +f,+mg (0000000D0)

) (10.4)
Jo=T=u Af +usAf, (00O0D0D0O0)

OO00000DO0O0O0OO00DO0O0DODOO00O00 CodebsO000O0O
oooooooooog £, fU00bbObo0ooboobbobobooobooooo
oooooof,f,O0000000D00O00000DO
o000 f,000000 R;OOOOO F;,O000000

F;
0

0

=F,+ R, =
fi R

+ (i=1,2) (10.5)

oopoooooOC0 OO0 102000000 F,O0000MNIO0DO0D0DOOO

10.2 0000000000 —Oobbodo

gooooooOoOoobooOooooboOooogooooooooooo f[=f,=00
OO0o0o0O00ooOooooooooooooooogooD fL,f,A20000000000
ocoooooooobooooooo [=f=00000000000000D00O0OO
oboboobooooobon

gbobooo3sbobopooboobuoooo1bobooboboboobobo
gbooobobobooobobobboboooobobobob 3sgbooooobooon
gbooobooooobooobooboobbody=0000000000000000O0O
gobooboobboobooboooobo

03: 00000000 (@Ooooooon)

gbooobooobobooboobobboboobobboboobooboooobooan
o000 RODODODODODODODOD

B L]0 (y>0)
=R = —Kpy —Cpy (y <0) 1o

Y00Oo [l]70000000000000DO00000D00O0
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0000K,0000000000000000000C,000000000000XK,
ooooO0oooooc,000000000000000000000O000(10.6)00
O0000000000000000000000000000 90

R=R(y,y) = U(=y){-Kpy — Cpy} (10.7)

00 U(X)DUDOOOOOO0OOOO (unit step function) 00000000

(X >0)

1
VO=10 x <o

(10.8)

00000 (10.7) 0000000000000 000000O00DOOO0OOU(-y)0O0O

good
O00000000c¢,0000000000000000000000O0O0O000OA0

ubboobooobooboobooobobooboobboobooboooobobooooo

R=R(y,y) = U(=y){-Kpy — U(=9)Cpy} (10.9)

ooooooooo o

10.3 UU0O0bOoOoooon

gboooobooboobooboboobobooboobobobobobooo
ubbggboobobodaoo

UL(X) !

= T on( X (10.10)

s=10 ——
s=50 ——

‘ ‘ s=1000 —o—
-0.4 -0.2 0 0.2 0.4

O0000DOO0O0O0OsODO00000O0O0Yg 00000000 DOOO0sO0OODOODO
000000 (s—ooU0ODOOOODOODOOOODO)YDODODODODODOOODODDODODOO
gooobooboboooboobooboboobooboboboboboboooboo
000000000 (000000000 or000O0OO00O0COOO)DDODOOOOODOD
uboobodbobobooboobobuoboobooboboboboboobobn
gbobooboobbooboobooobooboooboobobooon

0)Code 5 p320 000 10
WCode 5 p320000 20
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104 UO0O0OO0OO0OOOOOO

0 (10.7)D (10.9)D (10.10) oood (10.5) 00000000 ROOO R, 00
Ry = R(yis i) = Us(—y){—EKpys — Coi} (i = 1,2) (10.11)
gooo

Ri = R(yi, i) = Us(—yi {—Kpyi — U(=9:)Cpyi} (i =1,2) (10.12)

obooooboodby 00000000000 =2+ w; 0y 000y 000000000
ugoo

10

2 |—cosf

sin ] R p— (10.13)

Uy0ooooog

11 Jooobodooooon
11,1 JOogogoooo

o000 ROODODDODOODOOODOOODOOOD

—uR (> 0)
F=F(@)=10 (= 0) (11.1)
uR  (£<0)

00000z00000000000000000C0O0O0OOpO0DOOOOOOO0OOO (co-
efficient of dynamic friction) D 0000000

1 (X>0)
sgn(X):=<0 (X =0) (11.2)
-1 (X <0)
0000O0(11.1) 0000000
F = F(&) = —uRsgnd (11.3)

gbooooo

11.2 0JO0dooooodn

(11.1)000 (11.3)00o0o0o0ooooUoooOoUoOoOOoOoDUOoOOoUUboO
00000000000000000000000 (10.10)00000@11.3)00000
ooooooog

F =F(%) = —uRsgng(z), sgng(x):=2Us(x)—1 (11.4)

goooobooogobobb1oboboovu,0boo200000 10000000
O000-1000000 100000 sgny(z)00O00OO0O0O0OOO
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11.3 00dbobobooodn

0 (10.10)0 (11.3)0(11.4) 0000 (1050000000 F;000 KOO
Fy = F(&4,yi, 9i) = —pR(yi, Ui) sgng (4;) (11.5)

00000000R(y:, %) 00(10.11)0(10.12)0000000000004;00000
000004, =¢+4,02000000

0000 (10.11)0(10.12)0(11.5)00000000000000000000000
000 f£,00000000000000000

F; —uR; sgn (i) .
.= _ _ i=1,2 (11.6
| = Uy =Ko — Coi} (i=12) )

Fi —,U,Ri sgns(a'vi) .
odd = = . ) 1=1,2 (11.7
Bl T Uy Ko — U=yt TP )

11.4 U0 —000O0OOO0OO0OO0OOO0O0O0n
11.4.1 0OO00O0OOO0O0OOOO

gobooobooooboooooboooobboboboooboboooboboooooooo
0000000000000 000000000000000000 |p|0000 Bmax >0
gbobooboobboobooboooboobobooobooboo

Kio+ Ko+ K38+ K4 (18] < Buax)
0 (0ooo)

T

(11.8)

O00000oooooo

0000 (10.7) p2s0 000000000000 00O0O0DCOOOOOODOOOOOO
(trapezoidal function) D0 0000000000000 O0O ODOOOOODO 100000
0000000000000 0O0O00000000 200000000 (10.8) p2sd 00
O00000000o0O00000000b0OO0O0O0000O0O0B0DbO

trap(z; 2o, w) = U( — (z — 20) + w) - U((z — 20) + w) (11.9)
x00000000wD000000 1/200000000000(11.8)00000OOO
T = trap(5;0, Bmax) - (K10 + Ko + K36 + K4f3) (11.10)

00000000000000000000000000000U(x)00000000
000 Uy(z) 0000000

00 34 Code600000(11.10)000000000O000OOOOOOOOODOO
gboboobboobvyodobooobooobooboboooboobboooobg
gboogboobod
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11.4.2 00000

gboobboobuodabboobudoboobbodob eerdgbbboobgoabo
uboobooobobobooboonooobobboooobobouooooobooboon

(11.11)

obooboRrROODODODODODFODODODOD
oboboboboboooobobobobooooboobobo f:(f;c,fy)TD

ugbboobooboobbooboobboooboobbooobooboobbooo

A

O X=ra

000 f000a,A00000000 Ff=(fa,fs)T 0000000000 (8.15) pa1
0 F.,F/s00000000000000000000000000000
00000000 ¢=(e,8)’ 0000000000000 2,00000000

Tm(a, B) ra+1sin g
" m(a, ) [ym(a,ﬂ)] r+lcos (84)p
gooooooooono 3103200000040
0
fa 831;77” % fa: r 0
Fo=|lo| = [0 oa — 11.12
g [fg 8535” 88%5” fy lcos3 —lsinf3 f ( )
goooooooooo fDDDDDDDD(11.6)p3ODDDDD
F —uR i
Ty R US(_y){_prm - prm}
oooooo0o0ooooooooooooooooooooooooooobono
. . l.
PR L TO‘JF.@COSﬁ (8.5) p20
Ym —IlBsin 3
ooono
DDDDDDDDDD.’FfDDDDDDDDDDD(8.15)p21|:||:||:|D|].7:D
F= Fr + Fy (11.14)
~— U

oooo ooog

0000000000000 DD0000000000000000oonoonQg
00 35 Code 70000DNOCODD (UDU0DDODO)I00ODOOOODOOO
O0D00000D000D0D000 mexO000ODO0DO00O0D0DDO0OO0O0ODODDOOOODODO
Dooooooooo g

YK, C,0000000000000D000000
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gogd

1] 000000000 oooooooooo

A 0O0O0O0OOO

%\sleep(2000) //2sD ad

m\realtlmeiglt(o o01); //000O0DO0ODOOCOOORO

47 for i=1

Code 4: “wip.sce” (Scilab)
1{c1ear clf (); {
2\///// a D oooooo /////
=1, J=0 m=5, r=0.2, 1=1, g=9.8;
4\funct10n dx = eom(t,x) \
5] a=x(1); da=x(2); b=x(3); db=x(4)
6/// T = 1*a + 0.5%da + 40%b + 4*xdb; FT = [T; -TJ; \
7| FT = [0; 0]; \
8| A = [(M+m)*r- 2+J, m*lxr*xcos(b);
9] m*l*r*cos(b), m*1“2]
10| bb = [m*l*r*db~2 *sin(b); m*g*l*31n(b)] + FT; \
11| h = A\bb; \
12] dx (1) = x(2); dx(2) = h(1);
13] dx(3) = x(4); dx(4) = h(2);
14| endfunction \
w1 ////7/ 00 O00O0O0oOooQo ///7//
16| tn=1001; tt 11ns ace(0,0.01*xtn,tn);
171 x0=[0; O0; ﬁ
18] XX= ode( XO O, tt, eom );
w///// 0O D Dooooooa /////
20| function R=Rot(a) //0 O
21] R=[cos(a),-sin(a); \
22| sin(a), cos(a)l; \
23| endfunction \
M\functlon yy=Trans(xx,rr) //00 00O
25 yy(1,:)=xx(1,:) + rr(l)*ones(xx(l )5 \
26] yy(2,:)=xx(2,:) + rr(2)*ones(xx(2,:)); \
W\endfunction \
28| function draw_robot(a,b) //0 00 0 OO
29| x=r*a; //0 00000000
30| sn=5; sq=linspace (0,2*%pi*(sn-1)/sn,sn); \
31| spoke=r*[cos(sq);sin(sq)]; /0000000000000 \
32| spoke=Rot (-a) * spoke; //00 o00000000CCO0O0O \
33| spoke=Trans (spoke , [x;r]); //00x0000000OQ0CDO \
34| xv=[x*ones (1:sn);spoke(1,:)]; yv=[r*ones(l:sn);spoke(2,:)]; \
35| xsegs(xv,yv,2); xarc(x-r, 2*r, 2xr, 2*xr, 0, 360x%64); //0 0 0O 0O; o
36| rod=[0,0;0,11; //000000000O0
37] rod=Rot (-b) * rod; /00000000 ODOOOO |
38| rod=Trans (rod, [x;r]); //0 0 xO00000¢0 \
39| plot( rod(1,:), rod(2,:),"r-"); //00 00
40| p=gce (); p.children.thickness=2;//00000; 000O0O
41| g=gca(); g.data_bounds=[-4,-1;4,2]; //0000C0C0O
42| g.isoview="on"; xgrid(4); //0001; O00O00O0O; \
43| endfunction \
44)a=x0(1); b=x0(3); drawlater; draw_robot(a,b); drawnow; \
\
}
48| realtime (i); \
49| drawlater; clf(); //0 0
50| a=xx(1,i); b=xx(3,1i);
51| draw_robot (a,b); \
52| xlabel (sprintf ("%d / %d", i, t
53| drawnow; //0 0
|

54‘end

ogo; 0oooao;

Code 5: “stick.sce” (Scilab)

T 1
1jclear;clf (); \
21///// 00O ooa /////
3lm=1; 1=1; J=m*1°2/3; g = 9.8; mu=0.3;
4\function y = torq(x,f) \
5] y = det([x,f]); \
6| endfunction \
7] function y = signum( x )
8| y = (2.0/(1+exp(-le4*x))-1.0); //0 00O |

\

9] endfunction
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10| function y = step( x )

11] y = 1.0/(1.0+exp(-1ledxx)); //0 00000
12| endfunction

13| function fy = R(C y, dy ) //0 00O

\

\

\

\
14| Kp=8e3; Cp=25; fy = step(-y)*x(-Kp*y -Cpxdy); //00010 |
15| //Kp=12e3; Cp=80; fy = step(-y)*(-Kp*y -step(-dy)*Cpxdy); //0 O
16| endfunction \
17| function fx = F( dx, R ) //0 0 0O \
18] fx = -signum(dx)*mu*R; \
19| endfunction \
20| function dq = eom(t,q) \
21| x=q(1); dx=q(2); y=q(3); q(4) a= q(5) da=q(6); |
22 ul = -(1/2)*[cos(a); sin(agl = -ul \
23| dul =-(1/2)*dax[-sin(a); cos(a)], du2 = -dul; |
24| X1 = [x;yl+ul; //001000D0 |
25| X2 = [x;yl+u2; //0 02000 |
26| dX1 = [dx;dyl+dul; //0 01000 |
27| dX2 = [dx;dyl+du2; //0 02000 \
28| R1 = R(X1(2), dXx1(2)); //000001 |
29| R2 = R(X2(2), dX2(2)); //00 0002 |
30| F1 = F(dX1(1), R1); //00001 |
31| F2 = F(dx2(1), R2); //0 0002 |
32| f1 = [F1;R1]; £2 = [F2;R2]; //00000000 ‘
33| F =f1 + £f2 + m*x[0;-g]; //0 0 \
34| T = torq(ul, f1) + torq(u2, £2); //0 000 \
35 dq(1) = dx; dq(2) = F(i)/m; \
36| dq(3) = dy; dq(4) = F(2)/m; |
37| dq(5) = da; dq(6) = T/J; \
38| endfunction \
91 ///// D O OOOOOO ////7 \
40|n=130; tt=linspace (0,0. 05*(n 1) ,n); \
411 x0 = [O 0; 5; 0; Apl/ 0]; \
42| xx=ode( x0, 0, tt, eom ); \
a31///1/7/ ooooooooo /7777 |
44| function draw_mech(x,y,th) \
45| g=gca(); //DDDDDD |
46| g.data_bounds(:,1)=[—2;4]; //x0000 \
47| g.data_bounds (:,2)=[0;5]; //yO O D 0 \
48| g.isoview="on"; //0 0 1; oooao; \
49| xset ("color", 1) //0 0 O \
50| xsegs([-S;E],[O;O],9); //x0 \
51| xsegs ([0;0] ,[-0.5;5.51,9); // \
52| ul = -(1/2)*[cos(th); sin(th)]; u2 = -ul; \
53| X1 = [x;yl+ul; X2 = [x;yl+u2; \
54| xsegs ([X1(1);X2(1)],[X1(2);X2(2)]1,5); //00000 |
55| p=gce(); p.thickness=2; //00000; ODOO0OO |
56 | endfunctlon \
57) x=x0(1); y=x0(3); th=x0(5); |
58\draw_mech(x,y,th); drawnow; //0 00 0; OO0OO; |
591 //xclick(); //0000O0DB0O0O0OO |
60| sleep (2000) ; \
61| realtimeinit (0.05); /YOUDODODODODOOQOODOODOO \
62| for i=1:n \
63| realtime (i); \
64| drawlater (); clf(); //0000; O00OOO; \
65| x=xx(1,1); y=xx(3, 1), th=xx(5,1); \
66| draw_mech(x,y,th); //0000; O0O0O; \
67| drawnow; //0 000 \
68| end |
69‘//XSerS (0,"stick.eps"); |

Code 6: “wip-fall-free.sce” (Scilab)

ﬂclear clf O); {
20 ////71/7/7/7///7/7 0O [1707771717117717 \
3 M=1, J=0.1, m=5, r=0.2, 1=1, g=9.8; \
4\bmax 0.29; //000 \
5\//////////////////////////////////// \
6| ///// DDDDDDDD /1117 \
7| function g step ( ) \
8| s = 100; \
9| y = 1.0./(1.0+exp(-s*x)); //000000 \
10| endfunction |
11| function y = trap( x, x0, w ) \
12| y = step((x-x0)+w).*xstep (-(x-x0)+w); //0 000 |
13| endfunction \
w ///// 000O00QOOQ ///// |
15| function dx = eom(t,x) \
16| a=x(1); da=x(2); b=x(3); db=x(4); \
17| T = trap(b,O,bmax)*(l*a + 0.5%xda + 40*b + 4xdb); //0 000000 \
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18| FT = [T; -TJ]; //000 0000

19| A = [(M+m)*r~2+J, m*l*xr*xcos(b);

20| m*xl*r*xcos (b), m*x1~2];

21| bb = [m*l*r*xdb~2 *sin(b); m*g*l*sin(b)] + FT;
22| h = A\bb; /000000

23] dx (1) = x(2); dx(2) = h(1);

24| dx(3) = x(4); dx(4) = h(2);

25| endfunction

26| ///// OO0 OO0O0O00O ////7

271 tn=1001; tt=linspace(0,0.01*tn,tn);

28| x0=[0; 0; 0; 1];
29| XX = ode ( x0, 0, tt, eom );
s01///// 0O 00DoO0OoO000 /1117

26| step( xm (2)) * (- Kp*xm (2) -Cp*dxm(2)); //0 000
27| F -mu*R*sgn(dxm(1)); //0 0 O

28 ff = [F; R]; //000000

w\endfunctlon

00 ///// 0D 0O0OO0OOOQOQ /////

\
\
\
\
\
\
\
\
\
\
\
\
\
31| function R=Rot (a) //0 0
32| R=[cos(a),-sin(a);
33| sin(a), cos(adl;’
34| endfunction \
35 function y Trans(xx,rr) //0 000
36| yy (1, g xx(1,:) + rr(l)*ones(xx(1,:)); \
37| yy(2,:)=xx(2,:) + rr(2)*ones(xx(2,:)); \
%\endfunctlon \
39| function draw_robot(a,b) //D ooooao
40| x=r*a; /00000000
41| sn=5; sq=linspace (0, 2*Ap1*(sn 1)/sn,sn); \
42| spoke=r*[cos(sq); 31n(sq)] //000000000D00O00OO0O \
43| spoke=Rot (-a) * spoke; //00a000000000C000O0O0 |
44| spoke=Trans (spoke, [x;r]); //00x00000CQCO0OCQCGO \
45| xv=[x*ones (1:sn);spoke(1,:)]; yv=[r*ones(l:sn);spoke(2,:)]; \
46| xsegs (xv,yv,2); xarc(x-r, 2*r, 2*r, 2xr, 0, 360%64); //0000C; OO |
47| rod=[0,0;0,1]; /0000000000
48| rod=Rot (-b) * rod; //00B 00000 ODODOOOO \
49| rod=Trans (rod, [x;r]); //0 0 x000000 \
50| plot( rod(1,:), rod(2,:),"r-"); //00 00O \
51| p=gce(); p.children.thickness=2; //00000; DOOO |
52| g=gca(); g.data_bounds=[-4,-1;4,2]; //00 0000
53| g.isoview="on"; xgrid(4); //0001; O00OO0O0O; \
54 endfunction |
55| a=x0(1); b=x0(3); drawlater; draw_robot(a,b); drawnow; \
56| sleep (2000); //2s0 0 |
M\realtlmelnlt(o o1); //000O0DO0ODOOCOCOORO \
58] for i=1:10:tn
59| realtime (i); \
60| drawlater; clf(); //0000; O0000;
61| a=xx(1,i); b=xx(3,1i);
62| draw_robot(a,b); \
63| xlabel (sprintf ("%d / %d", i, tn));
64| drawnow; //0 000 ;
%‘end |
Code 7: “wip-fall-floor.sce” (Scilab)
1{c1ear clf (); {
2\/////////////// oo ///////////////
3M=1, J=0.1, m=5, r=0. \
4\bmax 0 29; //D D 0 |
5| mu=0. //0 0 \
6\////////////////////////////////////
«///// D O00O00000O00 ///7//
8| function y = step( x ) \
9] s = 100; \
10 y = 1.0./(1.0+exp(-s%*x)); //000000
11| endfunction \
12| function y = trap( x, x0, w )
13] y = step((x-x0)+w). *step( (x-x0)+w); //0 000 |
M\endfunctlon \
15| function y sgn( x ) \
16| s = 1e4 \
17] y = (2.0/(1+exp(—s*x))—1.0); //0 000 \
18| endfunction \
w///// 0DO00D00O0O0DOOODOOOOOQ ///7/7/ \
20| function ff = yuka(x) \
21| global r 1 mu; \
22| a=x(1); da=x(2); b=x(3); db=x(4);
23] xm = [r*a+l*sin(b); r+l*xcos(b)];
24] dxm = [r*da+l*db*cos(b); -l*db*sin(b)]; |
25| Kp led4; Cp=90; //00000C0000O0OO0OOCDO0OO0O0O0O0OO0OaOo \
\
\
\
\
\
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31| function dx = eom(t,x)

32| a=x(1); da=x(2); b=x(3); db=x(4);

33| /// 000000 0OxOoODOO + 0000y ///

34| T = trap(b,0,bmax)*(1*xa + 0.5*%da + 40%b + 4x*db);
35| FT = [T; -TJ1; //000 -0000

36| /// 0 0O0O0OoOoDooooooao ///

37| ff=yuka([a; da; b; dbl);

38| Ff = [r, 0; 1l*cos(b), —1*31n(b)]*ff //0 00 0000
39| A = [(M+m)*r~2+7J, m*l*r*cos(b) ..

40| m*xl*xr*xcos(b), m*1" 2]

41| bb = [m*l*r*db~2 *sin(b); m*g*l*sin(b)] + FT + Ff;
42| h = A\bb; //DDDDDD

43| dx (1) = x(2); dx(2) = h(1);

44| dx(3) = x(4); dx(4) = h(2);

45| endfunction

4| ///// OO OOODOO0O ///7/7

471 tn=401; tt=linspace(0,0.01*tn,tn);

481 x0=[0; 0; O0; ;
49| XX = ode( x0, 0, tt, eom );
sol ///// 0O 0O D ooooooo /7777

51 function R=Rot (a) //0 0

52| R=[cos(a),-sin(a);

53] sin(a), cos(a)l;

M\endfunctlon

%\functlon yy=Trans (xx,rr) //0 000

56| yy(1l1,:)=xx(1,:) + rr(1l)*ones(xx(1,:));
571 yy(2,:)=xx(2,:) + rr(2)*ones(xx(2,:));
%\endfunctlon

50| function draw_robot(a,b) //000000

60| x=r*a; //000000000O0

61| sn=5; sq=linspace(0,2*%pi*(sn-1)/sn,sn);

62| spoke=r*[cos(sq);sin(sq)]; /000000 OOCODOODOOO

63| spoke=Rot (-a) * spoke; //00a00000000CO00O0O0
64| spoke=Trans (spoke, [x;r]); //00 x000000000

65| xv=[x*ones (1:sn);spoke(1,:)]; yv=[r*ones(l:sn);spoke(2,:)];
66| xsegs (xv,yv,2); xarc(x-r, 2*r, 2*r, 2xr, 0, 360x64); //0000; OO
67| rod=[0,0;0,1]; //0000000000

68| rod=Rot (-b) * rod; //00B 0000000 OODOO
69| rod=Trans (rod, [x;r]); //0 0 x000000

70| plot( rod(1,:), rod(2,:),"r-"); //0 000

71| p=gce(); p.children. thlcknes =2; //00000; DOOO
72| g=gca(); g.data_bounds=[-4,-1;4,2]; //00 0000

73| g.isoview="on"; xgrid(4); //0001; O00OO0OO;

74| endfunction

751 a=x0(1); b=x0(3); drawlater; draw_robot(a,b); drawnow;
76| sleep (2000); //2s0 0

W\realtlme1n1t(0.01); //0000000D000O0<O

78 for i=1:10:tn

79| realtime (i) ;

80| drawlater; clf(); //0000; O000O0;
81| a=xx(1,1i); b=xx(3,1);

82| draw robot(a, )

83| xlabel(sprlntf("%d / hd", i, tn));

84| drawnow; //0 000 ;

85‘end
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